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Sticky Note
The power emitted by the microwave is the integral of the intensity over the surface of the food.

That is why intensity is the key factor.
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Typewritten Text
If the half-life of the neutron was of the order of a 
microsecond, then all neutrons would decay into protons 
before nucleosynthesis could happen (remember that
nucleosynthesis happens at around 340s, see p.95 in 
Liddle).

Therefore, only protons and electrons would take part in
the nucleosynthesis, and only hydrogen would form.
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Decoupling happened when the Universe was
378000 years old, whereas nucleosynthesis happened
when it was a few minutes old.

Hence, nucleosynthesis could be considered as a stronger test for the Big Bang model, then decoupling.

However, different people have different opinions about this. Remember that the CMB tells us that, at the time of decoupling, the Universe was extremely isotropic, and therefore the physics at decoupling is also of great importance for the Big Bang model.






